LABJNDu1 standard lightnessl*
I* Ync YW nc_loox

LaBanDu1 =[IN[(A 17+A2nYI(A 2rA0n)] (Yad/100<Y<=Yno)
F(3.6)1461%,(18)=332* w(90)517 &

1* =332,22 m,=264,66
L* =49, I =332

[ 9=517.21, Ay=1,500, ¢./1,00"
1*1§=332,22, Ar=0,017/4:=0, .
P 3,6-146,11)%,7332,72 Y718 application

range
/,/ IYU:18

Yn=3.6  Yy=90

LABJINDul
tristimulus value difference
Yoc=Yw nc=100,
1% aanput =INIA 10+ A2aV)I(A 20A0n)] (Yn/100<Y<=Yy0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
dYg=0,80, Ay=1,500, ¢=1,00

dY;=0,18, A\1=0,017, Agn 0,0058  »°
dY36=0,05 Y,=18, dY=0 ¢

I* =332 dY,=0,18 dYu/Yu o 0101

application
range

YN=3.6  Yy=90

log AY/Y)
S=(AY/Y)

LABJINDul
tristimulus value sensitivity
Yac=Yw  nc=100,

%1 aganpu1 =[IN[A 10+ A2 YVI(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY

(dY/Ypo=0,0089, Ay 1

(dY/Y%s—L, :0101, A,=0 ,Ag 0, 00058

6=0,0257 Y, 1& dY=0,18
log(dY/Y)-1,99 n'\,——O Iu\ <

I*,=332 dY,=0,18 dY,, lY 0 0101|
1
1

1y,=18
Yw=90

dvry:

. aaq?llcauon

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJNDul

tristimulus value contrast
Yoc=Yw - nc=100,

I* L ABaNDu1 =[INI(A 17 A2nY)V(A 20A0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYy=111,31, Ay=1,500, G=
(Y/dY)g=98,84, A=0,017, ,=0,0058
(YIdY} =63 35 Y,118, d\=0.18

application
range

R = e
YN=3.6 1 Yw=20

e

el
e
(&

LABJINDul relative standard lightnessl*/I*
Ync‘YW nc_loox

L aganpu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,0)
1 (3,6)=146/* ,(18)=332,* y(90)=517

I* gofl* 1,55, Apy=1,500, G=1,00
I*1¢/1* =1,00, A =0,017, A,=0,0058
I*3,¢1*=0,43,1¥,=332,22 =18

I el e application
range

1v,=18
Yy=90

Yn=3.6

LABJNDu1 relative

tristimulus value difference

Yne=Yw nc=100,

%L aganbu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,()

AY/dY,=AgnA 11+AanYI/dY,
dYeo/dY,=4,43, Ay=1,500, ¢=1,0
dY,gd =

Y,g/dY,=1,00, Ay 0017/:2 ,o
dYsgdY,=0,31 Y, 18, dY=0.18

log(AY/AY,)
AYIAY,

o
I*,=332 dY,=0,18 dY,/Y,=0, 0101

log [(AY/Y) I (AYIY)] LABJINDu1 relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,
1%L aBaNDu1 =[IN[(A 10+ A2RY)I(A 20A0n)] (Yd/100<Y<=Y,c)
@YIYYAYY,=(AgAg Y)Y AYIYY]

(dY/Ypo/(GV/Y)=0,88, Ay=1,500, ¢=1,00
(dY/Y)g/(dYr1=1,00, A =0,017, A, =0,0058
(dY/Y) d(dY/Y,=1,56 Y,~18 dY=0,18

log[(dY/YY(dY/Y)J=0, m=-0,13 1

I*,=332, dY,=0,18 dY,/Y,=0,0101 |

1y,=18
=Clp log

application
range

YN=3.6

log [(Y/AY) I (YIAY),] LABJNDuL relative
CICy=(YIAY)(YIAY), '{I(S[In;l.\j\l/us value contrast

=100,

L aganpu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,0)
(YVIAYY(YIAY ) =Y IYIAY ) )TA oA g Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,500, ¢=1,00

(Y/dY}/(Y/dY)=1.00, Ar=0.017, A=0,0058
(Y/ind(Y/dY =0,64 Y,~18, d\=0.18

-
1 application
1 range
'y,=18
Yw=20




